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gus - 31 SECTION - A
a&df@ss 92T / Objective Type Questions

ged I&AT 1 ¥ 80 doh & UA&F YA & TTY IR Qe U 70 § o d O
Teh HET &1 N9l GaNT Iol T FeT fdehed T OMR e W AT Y| dhaor
40 9=t & & 3 <

Question Nos. 1 to 80 have four options each, out of which only one is
correct. Mark your selected option on the OMR sheet. Answer any 40
questions.

1. Jodld HS Uco I WER $r 3Ufy fha fhare 3feree & giRieT &r 315 ?
(A) IREre
(B) 3gHCTIEE
(

(D) T9ROT

During which peasant movement was Vallabhbhai Patel given the title of

Sardar ?
A) Bardoli
B) Ahmedabad

C

(A)
(B)
(C) Kheda
(D)

D) Champaran

2. AT 7 O foreg A\ el & a1 & off S Srar € 2
A) I, TSENUTITERY

)
B) HITAT 31geT el 3TSTle
C) W g AFHR Tl

)

(
(
(
(

D) oTell glcdrd



Who among the following is also known as Frontier Gandhi.?
(A) C. Rajagopalachari

(B) Maulana Abul Kalam Azad

(C) Khan Abdul Ghaffar Khan

(D) Lala Hardayal

3. 9IRd WHR AAFTA, 1919 F.....& 717 T 37 FAT §
(A) ARIL-IFHRIS TS,

(B) AISH HARNT

(C) 3f3ae Teegedr HaerT

(D) Ag® R

Government of India Act, 1919 is also known as
(A) Montague-Chelmsford Plan

(B) Simon Commission

(C) Indian Statutory Commission

(D) Nehru Report

4. 3pRare AfeT w1 AT Faey =T ?
(A) Togded HIY
(B) GIaHT giad



Who built Angkor Wat temple ?
(A) Chandragupta Maurya

(B) Suryavarman I

(C) Samudragupta

(D) Harshavardhan

5. diefdeh & T dRIGH 3o NG Faa foEr ?
(A) Terfore

(D) Reresr

Who wrote the program 'April Thesis' of the Bolshevik party?
(A) Stalin

(B) Trotsky

(C) Lenin

(D) Garibaldi

6. WS HolgY fGad & HART STl § ?
(A) 173
(B) 1 5=
(C) 5 5T
(D) 8 AT



When is International Labour Day celebrated?
(A) 1st May
(B) 1st June
(C) 5th June

(D) 8th March

7. '‘gHETSEACArT fT asfed fFd Fed £ ?
(A) 9 TUs 9

(B) egferee AfAhEer

(C) e $fbce

(D) 3% dfaw

Which is called the 'Bible of Socialists'?
(A) War and Peace

(B) Communist Manifesto

(C) Das Kapital

(D) April Thesis

8. &g 3R @l Hr Y 1 e Faa fFar ?
(A) ares

(B) A=

(C) fowamen

(D) Auiferget



Who followed the policy of Blood and Iron' ?
(A) Garibaldi

(B) Mazzini

(C) Bismarck

(D) Napoleon

9. fFT & @ @it Wi 3uer wE ¢ ?
(A) Ferrdr

(C) s

(B) ste

(D) HETHARY

Which of the following is not a natural disaster?
(A) Tsunami

(B) Flood

(C) Earthquake

(D) Epidemic

10. a¥ 1934 # f9ER o fhq Wi Ul 1 AHAT fohar o1 ?



Which natural disaster did Bihar face in the year 1934 ?
(A) Drought

(B) Flood

(C) Earthquake

(D) Tsunami

11. Feo 96 fhd T Ué 4 goefeed § 2
(A) SNeF-2
(B) S1-3
(C) SheT-4
(D) SheT-5

Kachchh region is related to which seismic belt?
(A) Zone-2
(B) Zone-3
(C) Zone-4

(D) Zone-5

12. #AGERR dd H $FTed Pl Fed &



The vibration in the bottom of the ocean is called
(A) Earthquake

(B) Cyclone

(C) Tsunami

(D) Landslide

13. AAS & AY g U el &1 9l e & fAv fove o i #Acg o e
g7

(A) geeT

(B) SRS HERT

(C) gelleprcex

(D) ge#cei

Which instrument is used to locate the people buried under the rubble?
(A) Telescope

(B) Infrared camera

(C) Helicopter

(D) Microscope

14. 5T T FIAUTT FHT FT TSeT H g3 ?
(A) 1946
(B) 1947
(C) 1948
(D) 1949



When was the Constituent Assembly of India formed?
(A) 1946
(B) 1947
(C) 1948
(D) 1949

15. Uosp#T gl & ASCUTA YA 7T ?
(A) dreis

(B) frelr

(C) e

(D) AfFgsr

Nkrumah was elected the President of which country?
(A) Poland

(B) Chile

(C) Ghana

(D) Mexico

16. TTellfcdeh Goll I AleTdr 3R 3THr e YT fhar Srar g
(A) Tsgafd ganT

(B) JHTTHAT GarT

(C) foyaTaT 3T garT

(D) HHG garT



The recognition and symbol of political parties are given by
(A) President

(B) Prime Minister

(C) Election Commission

(D) Parliament

17. "feR & faera & foar s &1 faera g 767 § 1" I8 FU fhaer g2
(A) Toleg JdTG
(B) T. 9. SI. 3isgel FollH

(C) HAgd-3el-gh

(D) HETcHT el

"India's development is not possible without the development of Bihar.”
Whose statement is this?

(A) Rajendra Prasad
(B) A. P. J. Abdul Kalam
(C) Mahbub-ul-Haq

(D) Mahatma Gandhi

18. HXA # AISTAT AT HT IS e FIHT ?
(A) 15 &, 1950
(B) 15 &AM, 1951
(C) 15 31, 1950
(D) 15 379, 1951



When was the Planning Commission formed in India ?
(A) 15th March, 1950

(B) 15th March, 1951

(C) 15th April, 1950

(D) 15th April, 1951

19. F FT fJRA FAT Tohd TIadT JISTAT FT LT 3T AT ?
(A) Tgelt
(B) gay
(C) drerdr
(D) dradr

Development of agriculture was the main objective of which Five-Year
Plan?

(A) First
(B) Second
(C) Third

(D) Fifth

20. AT derd RAE &1 ghRe et 7 & fFae ganr fhar Jrar g 2
(A) WTO

(B) WHO

(C) UNDP

(D) ILO



Human Development Report is published by which of the following?
(A) WTO

(B) WHO

(C) UNDP

(D) ILO

21. AR T Ugell AlId Ashrd RAE T gena4T gart SRy faar aram ar ?
(A) FaATE foE
(B) 3cor fagrdl areradt

(C) 3o AR T

(D) STl AAg®

Which Prime Minister released India's First Human Development Report ?
(A) Manmohan Singh

(B) Atal Bihari Vajpayee

(C) Inder Kumar Gujral

(D) Jawaharlal Nehru

22. T & Fash HiT YROT fHE & ?
(A) FISHA Foacd



Who gave the concept of vicious circle of poverty?
(A) Simon Kuznets

(B) Keynes

(C) Alfred Marshall

(D) Ragnar Nurkse

23. ¥RA 1 FATF Yid eFiord 3T arell AT HieT § ?
(A) deIT

(C) eI

(B) 3mar

(D) eiTceh

Which state of India has the highest per capita income?
(A) Punjab

(B) Goa

(C) Maharashtra

(D) Karnataka

24. a¥ R A TRy <1 & TS 3T A el AT HT FAT Fgd & ?
(A) 9fa cafed 3T

(B) 3iraa 3

(C) T~ 3mT

(D) 357 & FI Tl



What is the total amount of income earned in
called?

(A) Per capita income
(B) Average income
(C) National income

(D) None of these

25. XA I ST SIS FT IS Hel §IT ?
(A) 1950
(B) 1952
(C) 1948
(D) 1954

When was the Wild-life Board of India formed?
(A) 1950
(B) 1952
(C) 1948
(D) 1954

26. 3Tgde & STk Pief § ?

a country during the year



Who is the father of Ayurveda ?
(A) Charak

(B) Dhanwantari

(C) Patanjali

(D) Sushruta

27. TFENST T 39ANT gIm &
(A) AR &
(B) wsH H
(C) Fux &
(D) &r. & &

Texol is used in
(A) Malaria

(B) AIDS

(C) Cancer

(D) T.B.

28. 7T H & FiA AdONT Foll H AT & ?
(A) rreT
(B) &R Zair
(C) derfors

~

(D) wrhfaesr Ia

(&



Which of the following is the renewable source of energy?
(A) Coal

(B) Solar energy

(C) Petroleum

(D) Natural gas

29. AR T GIH oI d1Y Sld-A7 § ?
(A) ERTHS ST

(B) fegdr srer

(C) Rewe arer

(D) HTEST-sT9Tel qTeT

Which is the longest dam in India?
(A) Hirakud dam

(B) Tehri dam

(C) Rihand dam

(D) Bhakra-Nangal dam

30. FgeElld AT faegd ARt &gl & ?



Where is Kahalgaon thermal power plant ?
(A) Muzaffarpur

(B) Barauni

(C) Bhagalpur

(D) Katihar

31. 8T &I FaTTeh Al adEr HiT g ?
(A) dr-eaT

.

(B) TH-AT

(C) wa-aRaT

(D) &-awr

Which is the most destructive wave of earthquake ?
(A) P-wave
(B) S-wave
(C) L-wave

(D) T-wave

32. &1 H & ThT 14T &l 'T9gR FT M’ Hgl ST & ?



Which of the following rivers is called the 'Sorrow of Bihar
(A) Ganga

(B) Gandak

(C) Kosi

(D) Sone

33. FEHIRAT T AIHRT A gAY AU &a =it ?
(A) 1929
(B) 1919
(C) 1918
(D) 1914

When did cooperative become the transferable subject of regional
governments?

(A) 1929
(B) 1919
(C) 1918
(D) 1914

34. HIES 3cUeT H 330 T T g ?
(A) 3nfaar

(B) HALT wcar



Which state is the largest producer of manganese ?
(A) Odisha

(B) Madhya Pradesh

(C) Maharashtra

(D) Karnataka

35. 5T H @ Hid olig 3T FT T T § ?
(A) feramse

(B) gATCIST

(C) facfaera

(D) 317 & Tl

Which of the following is a type of iron ore ?
(A) Lignite

(B) Haematite

(C) Bituminous

(D) All of these

36. ATEST-19TT IRATSTAT fFg Ay W Ty & ?



On which river is the Bhakra-Nangal Project built?
(A) Mahanadi

(B) Satluj

(C) Godavari

(D) Krishna

37. [T # @ @led ORA T Tgell Tael JIE & a1 WA fdeId e 87
(A) IO FaTT FER RAY] fAegd Feg

(B) RRT WA fdegd Feg

(C) ARIGT A fGegd dew

(D) Sedehs AT fdegd Heg

Which of the following is the first indegenously constructed nuclear power
station of India ?

(A) Rana Pratap Sagar Atomic Power Station
(B) Narora Atomic Power Station
(C) Tarapur Atomic Power Station

(D) Kalpakkam Atomic Power Station

38. fRATTS w2 & AU H 7T YR & Fa1 IIF & ?
(A) ITATT] FelT T

(B) AT Feir wIAA

(C) a9 faegd Feit dI=

(D) ST fega et &I



Which type of power plant is there at Manikaran of Himachal Pradesh?
(A) Nuclear power plant

(B) Geothermal power plan

(C) Thermal power plant

(D) Hydel power plant

39. wrehfde AW fhe @idel & |y 9 Sirar g 2
(A) T

With which mineral is natural gas found?
(A) Uranium

(B) Petroleum

(C) Limestone

(D) Coal

40. f9ea & HEIT & Fgl olig ST 39T FAT T ?
(A) SHRY



Where was the iron and steel industry built with the help of Britain
(A) Bokaro

(B) Rourkela

(C) Salem

(D) Durgapur

41. /T # @ &7 &3 Urer g ?
(A) oo STeTfea arét

(B) SgateT HATS qref
(C) IRWs Hfaa A
(D) 9RAT STerar et

Which of the following is a regional party?
(A) Lok Janshakti Party

(B) Bahujan Samaj Party

(C) Jharkhand Mukti Morcha

(D) Bharatiya Janata Party

42. §aten fohg TSI ol T gaard Reat § 2
(A) HATSIATEr 9réf

(B) IS STeACT gef

(C) o STeTertaa arét

(D) R FEgfaee ardf



Bungalow is the election symbol of which political party?
(A) Samajwadi Party

(B) Rashtriya Janta Dal

(C) Lok Janshakti Party

(D) Communist Party of India

43. AT Trér aRASAT FT oA § Fafeed & ?
(A) [9ER, 3T Ueu, ;LT Uear
(B) ATAEATS, HIel, FHellceh

(C) ufRgH §9me, 30T e, Yold

(D) ISRId, HERISE, HEF FeT

Narmada Valley Project is related to which states ?
(A) Bihar, Uttar Pradesh, Madhya Pradesh

(B) Tamil Nadu, Kerala, Karnataka

(C) West Bengal, Uttar Pradesh, Punjab

(D) Gujarat, Maharashtra, Madhya Pradesh

44. 7T A @ A SRAT FRaT AT & v7qg Adr & ?
(A) STIETEr FRTIOT

(B) =ierdy =RoT A%

(C) Feew fHg fesha

(D) AR aTS



Who among the following was a prominent leader of the Bhartiya Kisan
Union ?

(A) Jayprakash Narayan

(B) Chaudhary Charan Singh
(C) Mahendra Singh Tikait
(D) Morarji Desai

45, TSrerm aikwe 1 wderrel fohdel a¥ &7 gldar g ?
(A) 4 a§
(B) 5 a¥
(C) 6 a¥
(D) 2 a¥

What is the term of Zilla Parishad ?
(A) 4 years
(B) 5 years
(C) 6 years

(D) 2 years

46.dam?ﬁwq0ﬂ$?raﬁr%§3ﬂﬁao—€r’§é2ﬁ?



Where was the Panchayati Raj System started?
(A) Bihar

(C) Karnataka

(B) Rajasthan

(D) Maharashtra

47. ITH 9AId T TETeT Shisl Gl § ?
(A) u¥g

(B) #ETaR

(©) g

(D) T

Who is the head of Gram Panchayat ?
(A) Parshad

(B) Mayor

(C) Commissioner

(D) Mukhiya

48. TsUTel T AGFFT et AT & ?

(C) 3ursgufa

~



Who appoints the Governor ?
(A) President

(B) Prime Minister

(C) Vice-President

(D) Chief Minister

49. 3T AT F HI HT FFaY fHE ST F § 2
(A) ET&IoT 3Mshieht

To which country is Aung San Suu Kyi related ?
(A) South Africa

(B) Myanmar

(C) Sri Lanka

(D) Bhutan

50. AR TS FIAT AT TATTAT e g5 ?
(A) 1732
(B) 1885
(C) 1890
(D) 1945



When was the Indian National Congress established ?
(A) 1732
(B) 1885
(C) 1890
(D) 1945

51. SifafaaT & Sy T &I HROT FT AT ?
(A) Tl Fr FAT 7 gEf

(B) Wiedle=l T HAT H e

(C) dcter 1 HAT H defer

(D) 31H & HIg LT

What was the main cause of mass struggle in Bolivia?
(A) Water price hike

(B) Increase in the price of food grains

(C) Petrol price hike

(D) None of these

52. ToleeT H & Tl I & TN Tl gel 9H Tare § §0el & fov 319elr
AT ST ar ?

(A) gRere
(B) 31 STSTR Gf3ehr



Which of the following papers changed its language overnight to avoid
the Vernacular Press Act?

(A) Harijan
(B) Amrita Bazar Patrika
(C) Maratha

(D) Young India

53. fava # FATYH AT T AT FET €5 ?
(A) ==t

Where did printing start first in the world?
(A) China
(C) Japan
(B) India

(D) Britain

54. fr ¥ @ fFg GFAe & Sl 7 afagfd U & wA & e = 2
(A) FET FFHTTT

(B) foger @FaceT

(C) RIAT-Z-IeRT FFAA

(D) oiidat GFAeleT



In which of the following conferences Germany's compensation amount
was reduced?

(A) Kyoto conference
(B) Vienna conference
(C) Rio-de-Janeiro conference

(D) Lausanne conference

55. AR 7 ‘= For fFaar aep $r 2
(A) 37sTEH foishet

(B) hpforeT 3 Foldee

(C) s 3NETAT

(D) fererdst

Who implemented the 'New Deal' in America?
(A) Abraham Lincoln

(B) Franklin D. Roosevelt

(C) Barack Obama

(D) Nixon

56. SlieT o of fohd AN &1 3nfaser foham 2
(A) TEafeeT ST

(B) GTaReTH

N

(C) FeITSaT ercd

(D) ar~q SoTed



Which machine did John Kay invent ?
(A) Spinning Jenny

(B) Powerloom

(C) Flying shuttle

(D) Steam engine

57. dellergek 9 Tae &l fhdel Ieg fohar ?
(A) a8 foresT

(B) @8 RuaA

(C) TS Serglalr

(D) &S Ffaet

Who repealed the Vernacular Press Act?
(A) Lord Lytton

(B) Lord Ripon

(C) Lord Dalhousie

(D) Lord Irwin

58. & H 37c9dd dTol &of FAT gl ?
(A) Sefaw

(B) A=Tfas

(C) TAERT T

(D) 31 & HIg e



What was minority party called in Russia ?
(A) Bolshevik
(B) Menshevik
(C) Proletariat

(D) None of these

59. ST3IGS T WPR Fgl AT ?
(A) 390 TaTd=TH
(B) &feroft faadare

Where was Bao Dai's government ?
(A) North Vietnam

(B) South Vietnam

(C) Cambodia

(D) Hanoi

60. 3T 3R cFEToll fATAATH T THIHIOT el g3 ?
(A) 1960
(B) 1965
(C) 1975
(D) 1976



When was the unification of North and South Vietnam held ?
(A) 1960
(B) 1965
(C) 1975
(D) 1976

61. frT 7 ¥ forash AITETT § STell HT THIAIOT UT E3T ?
(A) AT

(B) T3¢ I

(C) faFex gHTe

(D) 31 & el

Who of the following contributed to the completion of unification Italy ?
(A) Mazzini

(B) Count Cavour

(C) Victor Emmanuel

(D) All of them

62. gerer ford ¢2r o1 e ar ?



Hegel was the philosopher of which country?
(A) France

(B) ltaly

(C) Germany

(D) Austria

63. STHT ST AT &1 AT fhasr forar ar ?
(A) 5 XVII

(B) AWforeT SiATIe

(C) sarfergsT Il

(D) foeaTh

Who had created the state of Rhine in Germany?
(A) Louis XVIII

(B) Napoleon Bonaparte

(C) Napoleon llI

(D) Bismarck

64. IFdRSEIT Afgenr feag $r awor forg gwar ¥ & ?
(A) AT Afgel T

(B) TIFT IS¢ HY

(C) Tud &g

(D) 3mfaare



Which organization announced International Women's Day?
(A) International Women Commission

(B) United Nations Organisation

(C) European Union

(D) ASEAN

65. Tohr foha S T T & 7
(A) famR

(D) STaTCRr

Taka is the currency of which country?
(A) Singapore

(B) Iraq

(C) Nepal

(D) Bangladesh

66. f9gR # ggaT &AT ATHT S HI FATAT §3;HT ?
(A) 1974
(B) 1975
(C) 1976
(D) 1977



When was the first Regional Rural Bank established in Bihar ?
(A) 1974
(B) 1975
(C) 1976
(D) 1977

67. P T HEhRI dh [T TAX W H1H AT & ?
(A) IMH EX
(B) e TR
(C) T=T TR

(D) T T

At what level does the Central Cooperative Bank work?
(A) Village level

(B) District level

(C) State level

(D) National level

68. FrufAs H¥ ar@ FfATT Hwenl S fohd THR ST KOT Y&lT ALl g ?
(A) 3TcTehTele



What type of loan is provided to the farmers by the Primary Agricultural
Credit Society?

(A) Short term
(B) Medium term
(C) Long term
(D) All of these

69. 31T Taerrd T JRT &aF a1 § ?
(A) Y

What is the third sector of economic development?
(A) Agriculture

(B) Industry

(C) Manufacturing

(D) Service

70. TIHR SaRT @MU T HeATGTh THIF0N qUT gidaal sl gerelr 1
FEATdT § ?



Removal of unnecessary controls and restrictions imposed by the
government is called https://www.bsebstudy.com

(A) Privatization
(B) Liberalization
(C) Globalization

(D) None of these

71. 1499 AR Hare=l &1 HEITT Fal § ?
(A) =gaTh
(B) arfraresT 3r.&.

Where is the headquarters of World Trade Organization?
(A) New York

(B) Washington D.C.

(C) Geneva

(D) Rome

72. aAT H 3YHFAT LG0T g fohelal T JTAET i X | & 7
(A) 34
(B) 35
(C) 32
(D) 36



How many State Commissions are currently working for consumer
protection?

(A) 34
(B) 35
(C) 32
(D) 36

73. gaTell 3enfirs geer 1 e §
(A) FreRraT - ReRT

(B) RICIhTAT - hleeldR

(C) wlefeprell - Afe=gT

(D) FIHIT - grasT

The centre of Hooghly industrial region is
(A) Kolkata - Rishra

(B) Kolkata - Konnagar

(C) Kolkata - Medinipur

(D) Kolkata Howrah

74. AT T HEQ BICT I0d SAleT HiA g ?
(A) 3R JeId

(B) 3TR-gdl €A Terd

(C) cferor-qa Yerd

(D) gat deddt Tefd



Which is the smallest railway zone in India?
(A) Northern railways

(B) North-east Frontier railways

(C) South-eastern railways

(D) East coastal railways

75. Wrecl T3y 3nfde &7 &gl &yd ¢ 2
(A) feeR

(B) ufeasT sammer

(C) e

(D) 3nfzem

Where is Falta Special Economic Zone located?
(A) Bihar

(B) West Bengal

(C) Kerala

(D) Odisha

76.memmﬁr’¢aﬁa§m?



Where was the first cement plant established in India?
(A) Delhi

(B) Kolkata

(C) Mumbai

(D) Chennai

77. IR &7 STHgH 5T ATT T gl AT § ?
(A) SR
(B) STHIGYR

Which city is known as Birmingham of India?
(A) Bokaro

(B) Jamshedpur

(C) Bhilai

(D) Rewari

78. 7T H & HiT SaRd S § ?
(A) FITell
(B) dciferas

~

(C) urenfdes I

(&

(D) 3AH & el



Which of the following is a fossil fuel?
(A) Coal

(B) Petroleum

(C) Natural Gas

(D) All of these

79. ST ARATSAT ST YEIHTT FF g% ?
(A) 1970
(B) 1973
(C) 1975
(D) 1978

When was the Tiger Project started?
(A) 1970
(B) 1973
(C) 1975
(D) 1978

80. HISHIM ISET 3T hgl T & ?
(A) TTEAT

(B) 3 92r



Where is Kaziranga National Park located?
(A) Rajasthan

(B) Uttar Pradesh

(C) Uttarakhand

(D) Assam

qus - § / SECTION - B
sfagr / History

g 3T 92T / Short Answer Type Questions

TR HEAT 1§ 6 T oY AT &l 390 F el 3 IeaAl & IW G| TR
9% & T 2 3 iR gl

Question Nos. 1 to 6 are Short Answer Type. Answer any 3 questions.
Each question carries 2 marks.

1. #HIE il & dTG Dl & sAced H Toll TN HT HET 368 FI7 AT ?

What was the main objective of the government formed under the

2. A garT A5 e Afa A Gwor F=4r Hr TS 2

Why was the New Economic Policy announced by Lenin ?

3. g-M-fAeg AN &1 F7 3gNar o 2

What was the utility of Ho-Chi-Minh route?



4. qolc TaFe H AT FAT FHASIA & ?

What do you understand by Rowlatt Act?

5. herdl JoTTell & faoprg & fahegl &I RO I IATST|

State any two reasons for the development of Factory system.

6. R TS HEw H FATAT fobed IRTEAfTAT 7 55 2

Under what circumstances was the Indian National Congress established?

&rer 3 U / Long Answer Type Questions

geaT T&ar 7 3R 8 & 390 &1 599 ¥ Y U &7 3 & IS U
foT 4 3 ARG &

Question Nos. 7 and 8 are Long Answer Type. Answer any one of them.
Each question carries 4 marks.

7. 39S AT & fhE YR HRAT Tsgarg & 36T # HAgedqul A s

How did English education play an important role in the rise Indian
nationalism?

8. T hifad & JHTT HI fFaT=r |

Discuss the impact of the Russian Revolution.



Usreifa fa=eT / Political Science

o 3T 99T / Short Answer Type Questions

IR HEAT 9 3R 12 TF oY 3T &l 374 & fordll 2 gl & 3w &I TIF
g & foIT 2 3% FUIRd g

Question Nos. 9 to 12 are Short Answer Type Answer any 2 questions.
Each question carries 2 marks.

9. AT TTHTSAT & 39T AT YT § 2

What do you mean by social division ?

10. IR f9TH & 3T & Giar & @]

Write the sources of income of Municipal Corporation.

1. dishAd AT 7 TSTilicieh o T AT HfAST gl & ?

What is the role of a political party in the formation of public opinion?

12. AR G cgaer $r & [Avae sasv|

State two features of Indian Federal system.

& 398 99T / Long Answer Type Questions

9T TEAT 13 TF 14 & 39807 &1 597 ¥ fFdr v &7 3 &) 9ds 92
& foT 4 3 @URT &




Question Nos. 13 and 14 are Long Answer Type. Answer any one of
them. Each question carries 4 marks.

13 FElT caedm TS Tahdl & Hedl & Gatad & fhd YR Feded gl o7

How does the Federal system help in promoting the values of national
unity?

14. ITEaT FT TN FT TFR iehdd H FHATT Xy & 2

How does coalition politics affect democracy?

F4AET / Economics

o 3T 99T / Short Answer Type Questions

TR TEAT 15 & 18 T oY 3T &l 347 & fhegl 2 Ual & 3 | IAS
e & fow 2 3/ AUiRa &1

Question Nos. 15 to 18 are Short Answer Type. Answer any 2
guestions. Each question carries 2 marks. 2-2-4

15. 3T¥er T 3N 3 gefer # X TavC |

Explain the difference between economic development and economic
growth.

16. SHIT STHIT YU T IR FAT HTRYTT & ?

What do you mean by Core Banking System ?



17. 3T &l IRET o T Godeel TATUT S|

Establish the relationship between income and poverty.

18. TIT WEIAT THE @ 3T AT FHSIA § ?
What do you understand by self-help group?

&rEr 3T U / Long Answer Type Questions

g HEAT 19 Tg 20 &Y 330 &1 3767 O fondt v T 38X &1 T qs e
& T 4 3/ FURT g

Question Nos. 19 and 20 are Long Answer Type. Answer any one of
them. Each question carries 4 marks.

19. IAHIOT & geahl ol [FEar I Af@T|

Write in detail the components of globalization.

20. TSERT 31T @1 I IAST| FHDT AU AT yAH@ AT v T B

State the meaning of national income. Discuss the main methods of its
calculation.

s / Geography

o 3T 92T / Short Answer Type Questions



9ReT HEAT 21 @ 26 T oY 3T 81 37 @ fohedl 3 UeaAl & 3R &I YA
g & foIT 2 3% FuURd g

Question Nos. 21 to 26 are Short Answer Type. Answer any 3
questions, Each question carries 2 marks.

21. TafotH IJeeT TTATET T & ?
What is Golden Quadrilateral Highway ?

22. ar renfcas @At & aAtd i)

Name two non-metallic minerals.

23. Ik FaIT & 3c4eaT hd 8T g ?

How is solar energy produced?

24. 39 fafqerar a1 g ?

What is Biodiversity?

25. SAHEAT Uedcd § TRl &7 THYT § ?

What do you mean by density of population?

26. AT IMGAdT I GHITAT el dle Toheal al PRPI Hl 3ol HIAT|

Mention any two factors affecting cropping intensity.

&rer 398 w9 / Long Answer Type Questions



YT TEAT 27 UG 28 & 38T & 597 ¥ fFdl v &7 3 &1 gqs 9
& foT 4 3 @URa g

Question Nos. 27 and 28 are Long Answer Type. Answer any one of
them.

Each question carries 4 marks.

27. Gdd Taerd & YR &l SITEAT HITAT|

Explain the concept of sustainable development.

28. gl shifd &A1 § ? AR I W SHHBI FAT THG TT ?

What is Green Revolution? What was its impact on Indian agriculture?

3T9er yae«T / Disaster Management

o 3T 92T / Short Answer Type Questions

TR TEAT 29 ¥ 32 T oY 3T &l 347 & fhegl 2 Uall & 3 | IAS
el & fIw 2 319 AR g1 https://www.bsebstudy.com

Question Nos. 29 to 32 are Short Answer Type. Answer any 2
guestions. Each question carries 2 marks.

29. HTehfdeh 3M9er AR AlTd Sl A9er # FT el § ?

What is the difference between natural disaster and manmade disaster?



30. g€ & v fSFATR FRE! &I dEv|

Mention the factors responsible for drought.

31. o & IR 91 T H A & YT TdAST|

Mention the measures to reduce the devastating effect of Tsunami

32. geI Hadl 396 FAT & ?

What is remote sensing satellite ?



